cos(tanx) — cosx

limy .

(A) é (B) —3

© -1 D) L
6 3

(sinx—tanx)®—(1—-cos2x)*+x°

The value of lim — - equal to:
x—0 T(tan™x)"+(zin~ x5+ 3sinsx
(A) 0 B) 1
©) 2 o) 1
3
Leta :lim o (Ns'x} b= lim S lim 2= Then
x> x—0x(1l-e ‘XJ x—1 Inx
a,b,c satisfy :
(A) a<b<c (B) b<c<a
(C) a<c<bh (D) b=a<c
sin(mcos?(tan(sinx)))
lIm——————=
x—+0 x-
A« (B) =
4
©) = (D) None of these

If Fx) is a thrice differentiable function such that,
then the value of JIC..(0)

w0 ®) 1
© 12 e
If = |sinx — |cosx||, then f' (%) =
(A) @ B) -3
3 2
© B-1 ® =2
5 2
Let fl) = sin® x xis rational the set of

ix xis frrational ’ .
pous, wiicre f( )3 conuiuous, is :

(A) { (B) Anull set

@n+ 1);1,?1 ff}

(D) Set of all rational
numbers

© {nm, nel}

Iff(x] = cos(x® — 4l]) ;0 < x < 1, (Where [.] denotes
greatest integer function ) the (ﬁ) is equal to :

5

@ _

2

®)

D) E

Let &) be the inverse of £l such that £l =

1425

e

© 0

then 42z, is equal to :
dx?

@A) _

1+(glx) )5

®)

Erix)

1+(glx)5

10

Q
11

12

Q
13

15

16

©) 5(ge*(1+(ge)®) @) 1+ ()’

Let min(rx?) x=0 then which of the
) = 2r,x—1) x=0

lUllUWlIlg IS 11I0UL uue ¢

(A) Flx) is not
differentiable at

(B) FO) is not
differentiable at

r=0 exactly two points

(©) f(x) is continuous (D) f(xy s strictly

at everywhere increasing v, ¢ g

Let L=-tanx x* T . Iff(x) iS
FG) =4 %-r sixef0.f)
' 4 [J 3=)Z qual to
(A) 1 (B) 0.5
(C) -0.5 (D) -1
If jrin — g Gox and (%) is the inverse function

Off(x) then §'(x) is equal to :

(A) e* +x (B) eseK et ¥

(C) esxl-x (D) esx
Rang of the function Fx) = logs(2— log (16
sin?x+ 1)) is : i

(A) [0,1] B) (0) (-co,1]

C
© (c) [-1,1]

(D) (d) (gp, 0)

For a real number x, let [x] denotes the greatest
integer less than or equal to x. let ¢, g _, p be defined
by flx) = 2x + [x] + sinx cosx. Thenf is
(A) One-One but not
onto

(B) Onto but not one-
one

(C) Both one - one and (D) Neither one - one

onto nor onto

The true set of values of €k€p for which

. 1 y=kx may have a solution is :
sin l( ) —
1+sin®x 6

(A) [} 5] ®) [13]
4'2
© [é% D) [241]
If F:(—00,2] = (—00,4] where Flx) = x(4 —x), then

1% is given by :

A 2-ya—x B) 24ya—x
© —2+yva=x D 2-yz=%x
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20

22

. iofi - d — then , =
The range of function f{x) = [1 + sinx] + [2 + smg] + [3 + sﬁ.‘sﬂ 24 .S‘.ltf,s.f?e.s.ﬁ{;llj) = 353[%, Ir-f,'?g = gof, g

£ N{[.]denotes integer function @) (13,02 1), 3,2), (4 41}3) ((1,3),(2,4), (3,1), (4 2))

(A) {u‘-l-u—:J u(u-l-l)} (B) {“(F“‘l}} ©) {(1,3),(2,2),(3,4), (4, 31})) {(1,3),(2,4),(3.2), (4, l)}

a ’ ~

B - 23

5 ! a

a

(C) nintl)] nP+n+2 niints (D) nintl) n*+n+2 Q The function on
) e ey PR

(x2Msgm x )20+

L L 1S
gx—e X
1 1 x¥0 neEN

which of following function is homogeneous ? sxte X
(A) Odd function (B) Even function
(A) f(x) = xsiny + ysinx (B) £ :ng_'_},g%
©) i D) o6 = x - ¥y cosaf (C) Neither odd nor (D) Constant function
= xey? ysinx +y even function

which of the following function is periodic with
fundamental period  ?
Q A functionf: R — R is defined as Flx) = 3x2 + 1.

ﬂ| (B) g0 = six x + sin¥x +%‘§iu}{|hen 1@ is :

(A) _
flx) = cosx + [ 2 cosx + cos7x

; where |.] denotes
greatest integer (A) \fxs (B) g Ji-1

function

C —1 does not exist D) vx—1
© h) = () +leosel; ) (600 = [cosal +Insinz) T i
where {.} denotes

fractional part Q  which of the following is closest to the graph of
function 25 ¥ =tan(sinx),x =07
(A) (B)
Let f:ny - zand #-1  whenxis add 1 1
Flx) =1 2, " whenx iseven Q.vﬂ . :
then : -z
: an 3 (C)

(A) flx)is bijective (B)  f(x)is injective but not surjective

(O Flx)is not injective but surjef(x)is neither injective nor surjective

Q  The complete set of . in the domain of function
a¥+1_s1-% then

flx) = o glx) 26 F(x) = \Togusa(E —SLA + 7) (where [.] denote
be : greatest integer function and {.} denote fraction part

Let g(x) be the inverse of

function ) is :

(A) Elog«(gh) (B) —Elogn(:”)
2 “A\2-x 2 “AZ-x A _E E 01 1 (1,00)
© 1y, zx) D) 1. ) (A) ( 3,0)U(3,1)U(2,m@3) 0 DU
C P P ’D 4 P
LetA={1,2,3.4} and f, 4 4 satisfy © (3o)u)va=m® (Go)u(-11)uaw

(1 =2,1(2) =3,7(3) = 4,f(4) = 1. SUppose



